### Informational Report for the October 21, 2014 Board of Trustees Meeting

Last Name	First Name	MI	Site	New Emp to District	Duties	Division	Hourly Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
Luot Humo	Italio		Ono	Diotriot	Datioo	Dividion	rtuto	Maximum	Amount	Bog. Bato	Life Date
Chabot College - Cor	mmunity Educa	tion									
Arnott	Heidi	E.	Chabot	No	Teach Musical Theater to Community Education students	Community Education	\$25.00	9	\$225.00	10/13/2014	11/17/2014
Groff	Mary Lou	nmi	Chabot	No	Teach Cake and Cupcake Decorating to Community Education students	Community Education	\$30.00	24	\$720.00	9/29/2014	6/30/2014
Hawtrey	Nancy	S.	Chabot	No	Teach Water Aerobics to Community Education students	Community Education	\$45.00	36	\$1,620.00	8/26/2014	11/20/2014
Huang	Wei-Chin	nmi	Chabot	No	Teach AUTOCAD to Community Education students	Community Education	\$99.00	12	\$1,188.00	10/4/2014	11/22/2014
Johnson	Beverly	M.	Chabot	No	Teach Community Band to Community Education students	Community Education	\$45.00	36	\$1,620.00	9/8/2014	12/8/2014
Kuo	Diana	S.	Chabot	No	Teach beginning Chinese to Community Education students	Community Education	\$45.00	12	\$540.00	10/16/2014	11/20/2014
Disko	Cathorica	nmi	Chahat	No	Teach Project Management Classes to Community	Community	\$60.00	50	¢2,000,00	0/2/204.4	11/8/2014
	Diana				Teach beginning Chinese to Community Education students Teach Project Management Classes to	Community Education					

#### Informational Report for the October 21, 2014 Board of Trustees Meeting

Last Name	First Name	МІ	Site	New Emp to District	Duties	Division	Hourly Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
Traugott	Jonathan	C.	Chabot	No	Teach Android Applications for Beginners classes to Community Education students	Community Education	\$45.00	12	\$540.00	10/11/2014	10/25/2014
Wood, Sr.	Royce	Α.	Chabot	No	Teach Wine Making to Community Education students	Community Education	\$45.00	3	\$135.00		12/31/2014
Chabot College											
Amayo-Hassan	Linda	A.	Chabot	No	Provide services and support as costume designer and oversee costume shop for the Theater Arts performances	School of the Arts	\$46.92	32	\$1,501.44	9/26/2014	12/31/2014
Baiardi	Elaine	nmi	Chabot	No	Teach one-day test taking NCLEX seminar in Fall 2013 & Spring 2014	Health, Physical Education, & Athletics	\$100.00	35	\$3,500.00	8/12/2014	12/31/2014
Bell	Robert	K.	Chabot	No	Film football games as mandated by the California Community College Athletic Association	Health, Physical Education and Athletics	\$198.00	11	\$2,178.00	8/18/2014	12/31/2014

### Informational Report for the October 21, 2014 Board of Trustees Meeting

Last Name	First Name	MI	Site	New Emp to District	Duties	Division	Hourly Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
Brooks	Kwenu	nmi	Chabot	No	Provide sign language interpretation services	Disabled Student Programs and Services	\$52.00	450	\$23,400.00	8/18/2014	12/31/2014
Contreras-Garcia	Karina	nmi	Chabot	No	Provide services for Title III project that includes interviewing, research, videography, film- making and community outreach	Title III	\$15.00	32	\$480.00	9/1/2014	9/30/2014
De Castro	Juluo	B.	Chabot	Yes	To work as a Project Aide for the disadvantaged youth summer sports program	Special Programs & Services	\$13.50	132	\$1,782.00	6/16/2014	7/18/2014
Foster	Kianna	M.	Chabot	Yes	To work as a Project Aide for the disadvantaged youth summer sports program	Special Programs & Services	\$13.50	131	\$1,768.50	6/16/2014	7/18/2014
Gropetti	Eugene	P.	Chabot	No	Provide services to assist in the accreditation process	Academic Services	\$100.00	200	\$20,000.00	8/25/2014	12/31/2014
Hassan	Dov	A.	Chabot	No	Provide services in set design for the Theater Arts performances	School of the Arts	\$46.92	32	\$1,501 <u>.</u> 44	3/26/2014	5/31/2014

### Informational Report for the October 21, 2014 Board of Trustees Meeting

Last Name	First Name	MI	Site	New Emp to District	Duties	Division	Hourly Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
Hassan	Dov	A.	Chabot	No	Provide services in set design for the Theater Arts performances	School of the Arts	\$46.92	32	\$1,501.44	9/26/2014	12/31/2014
Head	Sabrina	R.	Chabot	Yes	Work as a Project Aide for the disadvantaged youth summer sports program	Special Programs & Services	\$13.50	131	\$1,768.50	6/16/2014	7/18/2014
Heltzel	Eric	w.	Chabot	No	Provide services for Title III project that includes interviewing, research, videography, film- making and community outreach	Title III	\$20.00	24	\$480.00	9/1/2014	9/30/2014
Kleber	Greer	H.	Chabot	Yes	To work as a Project Aide for the disadvantaged youth summer sports program	Special Programs & Services	\$13.50	132	\$1,782.00	6/16/2014	7/18/2014

### Informational Report for the October 21, 2014 Board of Trustees Meeting

			District	Duties	Division	Hourly Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
Sean	S.	Chabot	No	Teach the X-ray certification course required by the state for dental assistants and to oversee the didactic/clinical practice of the course	Dental Hygiene	\$75.00	16	\$1,200.00	8/18/2014	12/31/2014
Skye	G.	Chabot	No	Provide services for Title III project that includes interviewing, research, videography, film- making and community outreach	Title III	\$15.00	32	\$480.00	9/1/2014	9/30/2014
Jessie	Α.	Chabot	No	Teach 2014-15 swimming clinic to Community Education students	Health Sciences, Physical Education & Athletics	\$25.00	80	\$2,000.00	8/18/2014	12/31/2014
				To teach the X-ray certification course required by the state for dental assistants and to oversee the didactic/clinical practice of the	Dental			20.400.55		12/31/2014
	Skye	Skye G.  Jessie A.	Skye G. Chabot  Jessie A. Chabot	Skye G. Chabot No  Jessie A. Chabot No	certification course required by the state for dental assistants and to oversee the didactic/clinical practice of the course  Sean S. Chabot No Course  Provide services for Title III project that includes interviewing, research, videography, filmmaking and community outreach  Skye G. Chabot No Community outreach  Teach 2014-15 swimming clinic to Community Education students  To teach the X-ray certification course required by the state for dental assistants and to oversee the didactic/clinical practice of the	Sean S. Chabot No Course  Sean S. Chabot No Course  Provide services for Title III project that includes interviewing, research, videography, filmmaking and community outreach  Skye G. Chabot No Community outreach  Jessie A. Chabot No Education students  Chabot No Education students  Certification course required by the state for dental assistants and to oversee the didactic/clinical practice of the  Dental Hygiene  Title III project that includes interviewing, research, videography, filmmaking and community outreach  Title III Health  Sciences, Physical Education & Athletics	Sean S. Chabot No course required by the state for dental assistants and to oversee the didactic/clinical practice of the Dental Hygiene \$75.00  Provide services for Title III project that includes interviewing, research, videography, filmmaking and community outreach Title III \$15.00  Skye G. Chabot No community outreach Title III \$15.00  Health Sciences, swimming clinic to Community Education & Athletics \$25.00  To teach the X-ray certification course required by the state for dental assistants and to oversee the didactic/clinical practice of the Dental	Certification course required by the state for dental assistants and to oversee the didactic/clinical practice of the Course Sean S. Chabot No course Hygiene \$75.00 16  Provide services for Title III project that includes interviewing, research, videography, filmmaking and Community outreach Swimming clinic to Community Education & Education & Athletics \$25.00 80  Jessie A. Chabot No Education students  To teach the X-ray certification course required by the state for dental assistants and to oversee the didactic/clinical practice of the Dental	Sean S. Chabot No course required by the state for dental assistants and to oversee the didactic/clinical practice of the Course Hygiene \$75.00 16 \$1,200.00  Provide services for Title III project that includes interviewing, research, videography, filmmaking and community outreach Teach 2014-15 Swimming clinic to Community  Jessie A. Chabot No Education students  To teach the X-ray certification course required by the state for dental assistants and to oversee the didactic/clinical practice of the Dental	Sean S. Chabot No Community outreach  Skye G. Chabot No Community outreach  Jessie A. Chabot No Education students  To teach the X-ray certification course required by the state for dental assistants and to oversee the didactic/clinical practice of the Community outreach  To teach the X-ray certification course required by the state for dental assistants and to oversee the didactic/clinical practice of the Dental  Dental  Dental  Hygiene \$75.00 16 \$1,200.00 8/18/2014  Frovide services for Title III project that includes interviewing, research, videography, film-making and community outreach  Title III \$15.00 32 \$480.00 9/1/2014  Health Sciences, Physical Education & Athletics \$25.00 80 \$2,000.00 8/18/2014

### Informational Report for the October 21, 2014 Board of Trustees Meeting

Last Name	First Name	MI	Site	New Emp to District	Duties	Division	Hourly Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
Las Positas - Community	Education										
Bell	I.	P.	Las Positas	Yes	Teach voice over and career classes to Community Education students	Community Education	\$30.00	20	\$600.00	10/1/2014	12/25/2014
Broida	David	F.	Chabot	No	Teach the Harmonica classes to Community Education students	Community Education	\$30.00	25	\$750.00	11/1/2014	12/24/2014
Browne-Rosefield	Cecelia	A.	Las Positas	No	Teach Music classes to Community Education students	Community Education	\$30.00	75	\$2,250.00	9/1/2014	12/24/2014
Dozier	Thomas	Н.	Las Positas	No	Teach Parenting classes to Community Education students	Community Education	\$30.00	50	\$1,500.00	9/1/2014	12/25/2014
Eddy	William	S.	Las Positas	No	Teach Soccer classes to Community Education students	Community Education	\$40.00	50	\$2,000.00	9/1/2014	12/24/2014
Gatehouse	Lois	T.	Las Positas	Yes	Teach languages to Community Education students	Community Education	\$30.00	30	\$900.00	9/19/2014	12/18/2014

### Informational Report for the October 21, 2014 Board of Trustees Meeting

Last Name	First Name	MI	Site	New Emp to District	Duties	Division	Hourly Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
					T 1 1 1 1 1 0						
Gentile	Lisa	R.D.	Las Positas	No	Teach Wellness & Psychology classes to Community Education students	Community Education	\$30.00	50	\$1,500.00	10/1/2014	12/25/2014
Kutil	Craig	A.	Las Positas	No	Teach Wellness & Physical activity classes to Community Education students	Community Education	\$30.00	200	\$6,000.00	8/8/2014	12/24/2014
		_	Las Basilas	NI-	Teach Computer classes to Community	Community	Ф00.00	50	<b>#4</b> 500 00	40/4/0044	40/04/0044
Mockel  Moran	Dennis	E.	Las Positas  Las Positas	No No	Teach Career Education to Community Education students	Education  Community Education	\$30.00 \$30.00	50 25	\$1,500.00 \$750.00	10/1/2014	12/24/2014
Moran	Elaine	E.	Las Positas	No	Teach Foreign Languages to Community Education students	Community Education	\$30.00	25	\$750.00	9/1/2014	12/24/2014
Murray	Stephen	D.	Las Positas	No	Teach Fencing to Community Education students	Community Education	\$40.00	200	\$8,000.00	9/1/2014	12/24/2014
Ringener	James	W.	Las Positas	No	Teach Fencing to Community Education students	Community Education	\$40.00	100	\$4,000.00	9/1/2014	12/24/2014
Ruddle	Kathlyn	G.	Las Positas	No	Teach Art to Community Education students	Community Education	\$40.00	50	\$2,000.00	10/1/2014	12/24/2014

### Informational Report for the October 21, 2014 Board of Trustees Meeting

Last Name	First Name	МІ	Site	New Emp to District	Duties	Division	Hourly Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
					Teach Wellness & Tea to Community	Community					
Wagenblast	Kathryn	M.	Las Positas	No	Education students	Education	\$30.00	50	\$1,500.00	10/1/2014	12/24/2014
Las Positas College											
					Provide skills evaluation and assess Emergency	Science, Technology, Engineering,					
Adkins	Lori	J.	Las Positas	No	Medical Technology students	Math & Public Safety	\$15.00	100	\$1,500.00	8/18/2014	12/31/2014
Additio	2011	0.	Edo i condo	110		Caroty	Ψ10.00	100	ψ1,500.00	0/10/2011	12/01/2011
					Provide facilitator expertise to the AB86 planning grant for Mid Alameda	Education					
DeNisco	Frances	M.	Las Positas	No	County	Programs	\$45.00	35	\$1,575.00	9/1/2104	12/31/2014
Eroolon	Coorgo		Las Positos	No	Provide skills evaluation and assessment for Fire	Science, Technology, Engineering, Math & Public	\$15.00	160	\$2,400,00	0/40/2044	12/31/2014
Freelen	George	T.	Las Positas	No	Service Technology	Safety	\$15.00	160	\$2,400.00	8/18/2014	12/3

### Informational Report for the October 21, 2014 Board of Trustees Meeting

Last Name	First Name	МІ	Site	New Emp to District	Duties	Division	Hourly Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
Helstrom	Zel	D.	Las Positas	No	Provide skills evaluation and assess Emergency Medical Technology students	Science, Technology, Engineering, Math & Public Safety	\$15.00	100	\$1,500.00	8/18/2014	12/31/2014
McClendon-Hinnenkamp	Wendy	L.	Las Positas	No	Provide skills evaluation and assess EMS students	Science, Technology, Engineering, Math & Public Safety	\$15.00	100	\$1,500.00	8/18/2014	12/31/2014
Rodriguez Molina	Juan	D.	Las Positas	No	Provide software expertise in Statistical Package for Social Sciences, Teleform Survey Software, and BrioQuery	Research and Development	\$22.00	300	\$6,600.00	10/1/2014	12/31/2014
Rothman	Cheryl	A.	Las Positas	No	Design and publish Spring 2015 schedule of classes for the college	Student Services	\$29.00	88	\$2,552.00	8/18/2014	11/7/2014
Rothman	Cheryl	A.	Las Positas	No	Design and publish Summer/Fall 2015 schedule of classes for the college	Student Services	\$29.00	140	\$4,060.00	2/2/2015	4/10/2015

### Informational Report for the October 21, 2014 Board of Trustees Meeting

Last Name	First Name	MI	Site	New Emp to District	Duties	Division	Hourly Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
Santos	Anthony	M.	Las Positas	No	Provide assistance to support Veteran students in the Veterans Engineering Technology Pathway Program	Career Technical Education Programs	\$45.00	270	\$12,150.00	10/6/2014	12/31/2014
Sison	Lucas	J.	Las Positas	Yes	Provide assistance in skills evaluation and assess EMS students	Science, Technology, Engineering, Math & Public Safety	\$15.00	100	\$1,500.00	9/5/2014	12/31/2014
Sumpter	Joshua	Α.	Las Positas	Yes	Provide skills evaluation and assess Emergency Medical Technology students	Science, Technology, Engineering, Math & Public Safety	\$15.00	100	\$1,500.00	9/16/2014	12/31/2014
Wong	Sebastian	S.	Las Positas	No	Provide services as Program Coordinator for Emergency Medical Technology Program	Science, Technology, Engineering, Math & Public Safety	\$56.00	100	\$5,600.00	8/18/2014	12/31/2014

### Informational Report for the October 21, 2014 Board of Trustees Meeting

Last Name	First Name	МІ	Site	New Emp to District	Duties	Division	Hourly Rate		Maximum Amount	•	_
District Services											
Castaneda	Christian	A.	District	Yes	Provide support for the operations of the Workforce Investment Act	Tri-Valley One Stop	\$27.00	200	\$5,400.00	9/22/2014	12/31/2014
Donat	Teresa	G.	District	No	Provide non-credit computer training, grant, and consulting services to department and local area companies		\$85.00	100	\$8,500.00	7/1/2014	12/31/2014
Purcell	Sheila	K.	District	No	Provide support for the operations of the Workforce Investment Act	Tri-Valley One Stop	\$31.01	600	\$18,606.00	9/1/2014	12/31/2014